3) You are looking to drop two satellites into orbit around two planets made of the same substance, except that
planet A has twice the diameter as planet B. The satellites will be close to the surface of each planet, which
we can do because neither planet has atmosphere. How does the speed of satellite B (orbiting planet B in
low orbit) compare to the speed of satellite A? That is:
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A correct answer with no explanation will earn you an F. Please explain what is going on.

Along the way, it might be a good idea to explain what is the ratio of the masses of the planets:

ma = S mp
As well as the ratio of the accelerations of the two satellites:

ap= 2 ap _rJ-
A
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